[deg]

O
=
o

1 do
o
dl_égplz
|_\
AN

Ratio to CMS

0.12

0.1

0.08

0.06

0.04

0.02

[EEY

13()00 va PP

Jets

— T T | l ' ' -2
c
- 0]
B AQ(j) (CMS back-to-back jets) 13
B =
-~ m CMS b
| —A— Pythia 6.428 370 i
~ - Pythia 6.428 373 1=
o~ Pythia 6.428 374 —5
B Pythia 6.428 375 1o
. ---&-- Pythia 6.428 381 —'02:
— ---¥-- Pythia 6.428 382 ]
- —©
- i ey
®
| — ™M
B o
o
| —1 ™M
B |
- kS
- s
— Tl
| — O
B €
| —H
Q
I 1w
- 15
B —1a
B N (&)
| . . . . | . . . &
:l I I l I I l:
= =2
1
L —0.5
l . . l . . l
170 175 180



	Contents
	Page 1


